

Subsequences and Exact Divisibility by the Powers of the Balancing Numbers

Asim Patra¹, Gopal Krishna Panda¹, Kritkhajohn Onphaeng²,
Phakhinkon Phunphayap², Tammatada Khemaratchatakumthorn²

¹Department of Mathematics
National Institute of Technology
Rourkela, Odisha, India

²Department of Mathematics
Faculty of Science
Silpakorn University
Nakhon Pathom, 73000, Thailand

email: asimp1993@gmail.com, gkpanda_nit@rediffmail.com,
dome3579@gmail.com, phakhinkon@gmail.com, tammatada@gmail.com,
khemaratchataku_t@silpakorn.edu

(Received September 20, 2021, Accepted October 26, 2021)

Abstract

We study certain subsequences of the balancing numbers and determine their residues modulo the powers of the balancing numbers. This leads to an exact divisibility theorem for the subsequence and also gives an analogous result to those of the Fibonacci numbers.

1 Introduction

A positive integer n is said to be a balancing number if $n = 0$, $n = 1$, or n satisfies the Diophantine equation

$$1 + 2 + \cdots + (n - 1) = (n + 1) + (n + 2) + \cdots + (n + r),$$

Key words and phrases:Balancing number, exact divisibility.

AMS (MOS) Subject Classifications: 11B37, 11B39.

Tammatada Khemaratchatakumthorn is the corresponding author.

ISSN 1814-0432, 2022, <http://ijmcs.future-in-tech.net>

for some $r \in \mathbb{N}$. For example, $n = 6$ is a balancing number since $1 + 2 + 3 + 4 + 5 = 7 + 8$. Then the sequence $(B_n)_{n \geq 0}$ of the balancing numbers can be obtained from the recurrence relation $B_n = 6B_{n-1} - B_{n-2}$ when $n \geq 2$ with $B_0 = 0$ and $B_1 = 1$. Recall also that, for integers $k \geq 0$ and $m, n \geq 2$, we say that m^k exactly divides n and write $m^k \parallel n$ if $m^k \mid n$ and $m^{k+1} \nmid n$.

In this article, we are interested in studying exact divisibility and the residues modulo the powers of the balancing numbers in the sequence

$(G(k, n, m))_{k \geq 1}$ defined as follows:

Let $m \geq 1$ and $n \geq 2$ be integers. Define

$$G(1, n, m) = B_n^m \text{ and } G(k, n, m) = B_{nG(k-1, n, m)} \text{ for } k \geq 2.$$

Therefore, $(G(k, n, m))_{k \geq 2}$ is a subsequence of the balancing numbers and we would like to determine the residue of $G(k, n, m)/B_n^\ell$ modulo B_n , where ℓ is the largest integer such that B_n^ℓ divides $G(k, n, m)$.

Our motivation is to obtain analogous results to those of Fibonacci numbers as first appeared in Matijasevich's solution to Hilbert's 10th problem [6, 7, 8] which were further investigated by Panraksa, Tangboonduangjit, and Wiboonton [15] and extended by Onphaeng and Pongsriiam [9, 10, 11, 12] and Pongsriiam [17]. Notice that Panraksa and Tangboonduangjit [14] have recently obtained the exact divisibility result for a subsequence of the Lucas sequence of the first kind which covers our corollary. However, our main theorem is new and gives an idea on how to extend it to the complete calculation of the residues in the Lucas sequence of the first kind.

For more information on the balancing numbers, see for example the work by Behera and Panda [2], Panda [13], Patra, Panda, and Khemaratchatakumthorn [16], Ray [21], and Sequence A001109 in OEIS [23]. For some recent results on the divisibility properties of Fibonacci numbers and generalizations, we refer the reader to the articles by Ballot [1], Cubre and Rouse [3], Khaochim and Pongsriiam [4, 5], Pongsriiam [18, 19, 20], Sanna [22], and Stewart [24].

2 Preliminaries and lemmas

Unless stated otherwise, k, m, n are integers and $m, n \geq 1$. We first recall that if p is a prime, we write $\nu_p(n)$ to denote the p -adic valuation of n which is defined to be the nonnegative integer k such that $p^k \parallel n$. Next, we give some useful results which are needed in the proof of our main theorem.

Lemma 2.1. (Panda [13], Ray [21]) *The following statements hold:*

- (i) $B_n \mid B_m$ if and only if $n \mid m$. Moreover, $\gcd(B_m, B_n) = B_{\gcd(m,n)}$.
- (ii) $B_{n-1}B_{n+1} - B_n^2 = -1$.

Lemma 2.2. (Patra, Panda, and Khemaratchatakumthorn [16]) *We have*

$$B_{mn} = \sum_{j=1}^n \binom{n}{j} B_m^j B_{m-1}^{n-j} (-1)^{n-j} B_j = \sum_{j=1}^m \binom{m}{j} B_n^j B_{n-1}^{m-j} (-1)^{m-j} B_j.$$

Lemma 2.3. (Onphaeng and Pongsriiam [11]) *Let k, ℓ, m, s be positive integers and $s^k \mid m$. Then $s^{k+\ell} \mid \binom{m}{j} s^j$, for all $1 \leq j \leq m$ satisfying $2^{j-\ell+1} > j$. In particular, $s^{k+1} \mid \binom{m}{j} s^j$, for all $1 \leq j \leq m$, and $s^{k+2} \mid \binom{m}{j} s^j$, for all $3 \leq j \leq m$.*

Lemma 2.4. (Patra, Panda, and Khemaratchatakumthorn [16]) *For all $k \geq 1$ and $m, n \geq 2$, we have $B_n^k \mid m$ if and only if $B_n^{k+1} \mid B_{nm}$.*

Lemma 2.5. (Patra, Panda, and Khemaratchatakumthorn [16]) $v_2(B_n) = v_2(n)$.

Lemma 2.6. *Let n be a positive integer. Then $B_{n+1}^2 \equiv B_{n-1}^2 \equiv 1 \pmod{B_n}$.*

Proof. Replacing n by $n - 1$ in Lemma 2.1(ii) and reducing the equation modulo B_n , we get the desired result. □

Lemma 2.7. *Let k, m, n be positive integers. Then $G(k, n, m)$ is even if and only if n is even.*

Proof. We apply Lemma 2.5 throughout the proof. Assume that n is even. Then B_n is even and so $G(1, n, m)$ is even. If $k \geq 2$, then

$$v_2(G(k, n, m)) = v_2(B_{nG(k-1, n, m)}) = v_2(nG(k-1, n, m)) \geq 1.$$

This implies $G(k, n, m)$ is even for every $k \geq 1$. Next, suppose n is odd. Then $G(1, n, m) = B_n^m$ is odd and if $k \geq 1$ and $G(k, n, m)$ is odd, then $G(k+1, n, m) = B_{nG(k, n, m)}$ is odd. Therefore, the result follows by induction on k . □

3 Main results

We are now ready to prove our main theorem.

Theorem 3.1. *Let m and n be positive integers. Then the following statements hold:*

- (i) $B_n^{m+k-1} \mid G(k, n, m)$, for every $k \in \mathbb{N}$.
- (ii) If $k \geq 1$ and $n \geq 2$, then

$$\frac{G(k, n, m)}{B_n^{m+k-1}} \equiv \begin{cases} -B_{n-1} \pmod{B_n}, & \text{if } 2 \mid n \text{ and } 2 \mid k; \\ 1 \pmod{B_n}, & \text{otherwise.} \end{cases}$$

Proof. We prove (i) and (ii) by induction on k . Since $G(1, n, m) = B_n^m$, the result holds for $k = 1$. If $k \geq 1$ and $B_n^{m+k-1} \mid G(k, n, m)$, then by Lemma 2.4 B_n^{m+k} divides $B_n G(k, n, m) = G(k+1, n, m)$. Therefore, (i) obtains. Next, we prove (ii). Let $n \geq 2$. It is easy to see that (ii) holds when $k = 1$. Let $k \geq 2$ and assume that (ii) holds for $k-1$. Let $t = G(k-1, n, m)$. By Lemma 2.2, we obtain

$$G(k, n, m) = B_{nt} = \sum_{j=1}^t \binom{t}{j} B_n^j (-B_{n-1})^{t-j} B_j$$

By (i), we obtain $B_n^{m+k-2} \mid t$. By Lemma 2.3, $B_n^{m+k} \mid \binom{t}{j} B_n^j$, for $3 \leq j \leq t$. Therefore,

$$\binom{t}{j} B_n^{j-m-k+1} \equiv 0 \pmod{B_n} \quad \text{for } 3 \leq j \leq t.$$

Then

$$\frac{G(k, n, m)}{B_n^{m+k-1}} \equiv \sum_{j=1}^2 \binom{t}{j} B_n^{j-m-k+1} (-B_{n-1})^{t-j} B_j \pmod{B_n}.$$

The corresponding term when $j = 2$ in the above sum is

$$\frac{3t(t-1)}{B_n^{m+k-2}} B_n (-B_{n-1})^{t-2} \equiv 0 \pmod{B_n}.$$

Therefore,

$$\frac{G(k, n, m)}{B_n^{m+k-1}} \equiv \frac{t}{B_n^{m+k-2}} (-B_{n-1})^{t-1} \pmod{B_n}.$$

Next, we apply Lemmas 2.6 and 2.7 without further reference.

Case 1. n and k are even. Then t is even. By the inductive hypothesis, we obtain

$$\begin{aligned} \frac{G(k, n, m)}{B_n^{m+k-1}} &\equiv \frac{t}{B_n^{m+k-2}}(-B_{n-1})^{t-1} \equiv (-B_{n-1})^{t-1} \\ &\equiv -B_{n-1}B_{n-1}^{t-2} \equiv -B_{n-1} \pmod{B_n}. \end{aligned}$$

Case 2. n is even and k is odd. Then t is even. By the inductive hypothesis, we obtain

$$\begin{aligned} \frac{G(k, n, m)}{B_n^{m+k-1}} &\equiv \frac{t}{B_n^{m+k-2}}(-B_{n-1})^{t-1} \equiv (-B_{n-1})(-B_{n-1})^{t-1} \\ &\equiv B_{n-1}^t \equiv 1 \pmod{B_n}. \end{aligned}$$

Case 3. n is odd. Then t is odd. By the inductive hypothesis, we obtain

$$\frac{G(k, n, m)}{B_n^{m+k-1}} \equiv \frac{t}{B_n^{m+k-2}}(-B_{n-1})^{t-1} \equiv B_{n-1}^{t-1} \equiv 1 \pmod{B_n}.$$

This completes the proof. □

If $n \geq 2$, then $B_{n-1} \not\equiv 0 \pmod{B_n}$ and $1 \not\equiv 0 \pmod{B_n}$. By Theorem 3.1, it is easy to see $B_n^{m+k} \nmid G(k, n, m)$ if $n \geq 2$. Therefore, we obtain the following corollary:

Corollary 3.2. *Let $k, m \geq 1$ and $n \geq 2$. Then $B_n^{m+k-1} \parallel G(k, n, m)$.*

4 Acknowledgments

We would like to thank Prapanpong Pongsriam for his suggestions and his support.

References

- [1] C. Ballot, *The p -adic valuation of Lucas sequences when p is a special prime*, Fibonacci Quart., **57**, (2019), 265–275.
- [2] A. Behera, G. K. Panda, *On the square roots of triangular numbers*, Fibonacci Quart., **37**, (1999), 98–105.
- [3] P. Cubre, J. Rouse, *Divisibility properties of the Fibonacci entry point*, Proc. Amer. Math. Soc., **142**, (2014), 3771–3785.
- [4] N. Khaochim, P. Pongsriiam, *The general case on the order of appearance of product of consecutive Lucas numbers*, Acta Math. Univ. Comenian., **87**, (2018), 277–289.
- [5] N. Khaochim, P. Pongsriiam, *On the order of appearance of products of Fibonacci numbers*, Contrib. Discrete Math., **13**, (2018), 45–62.
- [6] Y. Matijasevich, *Enumerable sets are Diophantine*, Soviet Math., **11**, (1970), 354–358.
- [7] Y. Matijasevich, *My collaboration with Julia Robison*, Math. Intelligencer, **14**, (1992), 38–45.
- [8] Y. Matijasevich, *Hilbert’s Tenth Problem*, MIT Press, 1996.
- [9] K. Onphaeng, P. Pongsriiam, *Exact divisibility by powers of the integers in the Lucas sequence of the first kind*, AIMS Mathematics, **5**, (2020), 6739–6748.
- [10] K. Onphaeng, P. Pongsriiam, *Exact divisibility by powers of the integers in the Lucas sequences of the first and second kinds*, AIMS Mathematics, **6**, (2021), 11733–11748.
- [11] K. Onphaeng, P. Pongsriiam, *Subsequences and divisibility by powers of the Fibonacci numbers*, Fibonacci Quart., **52**, (2014), 163–171.
- [12] K. Onphaeng, P. Pongsriiam, *The converse of exact divisibility by powers of the Fibonacci and Lucas numbers*, Fibonacci Quart., **56**, no. 4, (2018), 296–302.
- [13] G. K. Panda, *Some fascinating properties of balancing numbers*, Congr. Numerantium, **194**, (2009), 185–189.

- [14] C. Panraksa, A. Tangboonduangjit, *P-adic valuation of Lucas iteration sequences*, Fibonacci Quart., **56**, (2018), 348–353.
- [15] C. Panraksa, A. Tangboonduangjit, K. Wiboonton, *Exact divisibility properties of some subsequences of Fibonacci numbers*, Fibonacci Quart., **51**, (2013), 307–318.
- [16] A. Patra, G. K. Panda, T. Khemaratchatakumthorn, *Exact divisibility by powers of the balancing and Lucas-balancing numbers*, Fibonacci Quart., **59**, (2021), 57–64.
- [17] P. Pongsriiam, *Exact divisibility by powers of the Fibonacci and Lucas numbers*, J. Integer Seq., **17**, (2014), Article 14.11.2
- [18] P. Pongsriiam, *A complete formula for the order of appearance of the powers of Lucas numbers*, Commun. Korean Math. Soc., **31**, (2016), 447–450.
- [19] P. Pongsriiam, *Fibonacci and Lucas numbers associated with Brocard-Ramanujan equation*, Commun. Korean Math. Soc., **32**, (2017), 511–522.
- [20] P. Pongsriiam, *The order of appearance of factorials in the Fibonacci sequence and certain Diophantine equations*, Period. Math. Hungar., **79**, no. 2, (2019), 141–156.
- [21] P. K. Ray, *Balancing and cobalancing numbers*, Ph. D. Thesis, Department of Mathematics, National Institute of Technology, Rourkela, India, 2009.
- [22] C. Sanna, *The p-adic valuation of Lucas sequences*, Fibonacci Quart., **54**, (2016), 118–124.
- [23] N. J. A. Sloane, The On-Line Encyclopedia of Integer Sequences, <https://oeis.org>
- [24] C. L. Stewart, *On divisors of Lucas and Lehmer numbers*, Acta Math., **211**, (2013), 291–314.